EXERCISES FOR CHAPTER 12
With Solutions

Exercise 1. Home Depot

At the time that of its 10-Q filing of financial statements for the first half of its January 2002 fiscal year, Home Depot’s shares traded at $50 per share.  The following are summaries from those financial statements.

	Balance Sheet, July 29, 2001
(in millions of dollars)

	
	
	
	
	

	
	
	
	Financial liabilities
	1,320

	Operating assets
	23, 457
	
	Operating liabilities
	6,709

	Financial assets
	     1,221
	
	Common equity
(on 2,336 million outstanding shares)
	              16,649

	
	   24,678
	
	
	   24,678


	Statement of Earnings, Six Months Ended, July 29, 2001
(in millions of dollars)

	
	
	

	Net sales
	
	
26,776
	

	Cost of Merchandise Sold
	
	
 18,795
	

	Gross Profit
	
	
   7,981
	

	
	
	

	Operating Expenses:
	
	
	

	Selling and Store Operating
	
	4,963
	

	Pre-Opening
	
	59
	

	General and Administrative
	
	     436
	

	Total Operating Expenses
	
	5,458
	

	
	
	

	Operating Income
	
	2,523
	

	
	
	

	Interest Income (Expense):
	
	
	

	Interest and Investment Income
	
	22
	

	Interest Expense
	
	    (11)
	

	Interest, Net
	
	11
	

	
	
	

	Earnings Before Income Taxes
	
	2,534
	

	Income Taxes
	
	                 978
	

	
	
	

	Net Earnings
	
	           1,556
	


According to financial statement footnotes, Home Depot’s statutory tax rate (combined Federal and State rates) is 39%.  Other comprehensive income (not in net earnings above) is negligible.  Use a required six-month return for operations of 4% in calculations below.  

Calculate the following from these statements:

1. Financial leverage

2. Operating liability leverage

3. After-tax profit margin

[This exercise is continued in web page exercises for Chapter 14]

Home Depot: Solution

1.
Net financial obligations (NFO)
= Financial liabilities – Financial Assets







= 1,320 – 1,221







= 99


Financial leverage (FLEV)

= 
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= 0.006

2.
Net operating assets (NOA) 
= Operating assets – Operating liabilities






= 23,457 – 6,709






= 16,748


Operating liability leverage (OLLEV) = 
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  = 0. 401

3.
Reformulated income statement: 

	OI before tax
	
	2,523

	Tax reported
	978
	

	Tax on net interest income (0.39 x 11)
	4
	974

	OI after tax
	
	1,549



PM = OI/Sales = 1,549/26,776 = 5.79%

------------------------------------------------------------------------------------------------------------

Exercise 2. Leverage Relations
(a)
A firm has a return on common equity of 21% and a return on net

operating assets of 18%.  Its after-tax borrowing cost is 5%.  What is its financial leverage

(b) A firm reports common shareholders’ equity of $480 million, net financial obligations of $89 million and operating assets of $634 million.  What is its operating liability leverage?

Leverage Relations: Solution
a)


ROCE = RNOA + [FLEV + (RNOA – NBC)]


21%
= 18% + [FLEV + (18% - 5%)]
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b)


NOA
= NFO + CSE


OA – OL = NFO + CSE


634 – OL = 89 +480
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OLEV = 
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= 0.114

------------------------------------------------------------------------------------------------------------

Exercise 3. Analyzing Reformulated Statements
The summary balance sheet below was prepared at the end of 1999 (in millions of dollars):

	Balance Sheet, 1999
	

	
	
	
	
	

	Operating assets
	
	
	
	477

	Short-term investments
	
	
	
	151

	Total assets
	
	
	
	628

	Operating liabilities
	
	124
	
	

	Financial liabilities
	
	291
	
	415

	Common equity
	
	
	
	213

	
	
	
	
	




In early 2000 an analyst develops a forecast of the balance sheet and income statement for the end of that year as follows:

	Pro Forma Balance Sheet, 2000

	
	
	
	
	

	Operating assets
	
	
	
	539

	Short-term investments
	
	
	
	150

	Total assets
	
	
	
	689

	Operating liabilities
	
	135
	
	

	Financial liabilities
	
	270
	
	405

	
	
	
	
	284


	Pro Forma Comprehensive Income Statement, 2000

	
	
	
	
	

	Sales
	
	
	
	1,550

	Operating expenses (including taxes)
	
	1,457

	Operating income (after tax)
	
	
	
	     93

	Net interest expense (after tax)
	
	       7

	Comprehensive income
	
	    86

	
	
	


(a)
Forecast return on net operating assets (RNOA), operating profit margin, asset turnover, and net borrowing cost from the pro forma statements for 2000.  Use 1999 balance sheet amounts in denominators.

(b)
No stock issues or repurchases are forecasted for 2000.  What is the forecasted dividend for 2000?

(c)
What is the forecast of free cash flow for 2000 that is implicit in the pro forma financial statements?

Analyzing Reformulated Statements: Solution

First reformulate statements.  The income statement is already reformulated.

Reformulated balance sheets:

	
	1999
	2000



	NOA (477 – 124)
	353
	(539 – 135)      404

	NFO (291 – 151) 
	140
	(270 – 150)      120 

	CSE
	213
	284


(a)
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(b)


Dividend = Comprehensive income – ΔCSE



    = 86 – 71



    = 15

(c)



C – I 
= OI – ΔNOA 



= 93 – 51



= 42

-----------------------------------------------------------------------------------------------------------

Exercise 4. Return on Common Equity and Financial Leverage

A firm with a return on common equity (ROCE) of 30% has financial leverage of 37.5% and a net after-tax borrowing cost of 5% on $240 million of net debt. 

(a) What rate of return does this firm earn on its operations?

(b) The firm is considering repurchasing $150 million of its stock and financing the repurchase with further borrowing at a 5% after-tax borrowing cost.  What effect will this transaction have on the firm’s return on common equity if the same level of operating profitability is maintained?

(c) Will this repurchase change the per share intrinsic value of the equity?  Why?

[This exercise is continued in web exercises for Chapter 16]

Return on Common Equity and Financial Leverage: Solution
(a)


ROCE
= RNOA + FLEV [RNOA – NBC]


30.0% = RNOA + 0.375 [RNOA – 5.0%]


RNOA = 23.18%

(b)


Financial leverage (FLEV) before repurchase = 
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           So, CSE = 640

            CSE after repurchase = 640 – 150 = 490


Net debt after repurchase = 240 + 150 = 390


Financial leverage after repurchase = 390/490 = 0.796


ROCE = 23.18% + 0.796[23.18% - 5.0%] = 37.65%

(c)


No effect.  Share repurchases and borrowings are zero NPV transactions: they don’t add value.


Proviso: if shares are mispriced, share repurchases will affect value. The firm may be able to repurchase the shares cheaply if they are underpriced. 

------------------------------------------------------------------------------------------------------------
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